Binomial Radical
Expressions

@ Vocabulary Builder

binomial (adjective) by NOH mee ul

Definition: A binomial expression is an expression made up of two terms.

Related Words: monomial, binomial expression, trinomial
Examples: monomial: a, x%, —3,17¢3, V5
binomial: @ — 7,x2 + 09, -3 — ab,17¢3 + 1,b — V5

trinomial: @ — 7 + x,x2 + x + 09, -3 —ab + a, 17¢° = ¢ + 1,
b +b— 5

Property Combining Radical Expressions: Sums and Differences

Use the Distributive Property to add or subtract like radicals.

\"‘\ e a¥x + b¥x = (a + b)Vx

aVVx — b¥x = (a — b)Vx

Adding and Subtracting Radical Expressions

Got It? What is the simplified form of each expression?

7V5 — 4}59 Buren 3xVay + 4x\Vxy
6’.«-«9\

Ix g



@ Binomial Radical
Expressions

Simplifying Before Adding or Subtracting

Got It? What is the simplified form of the expression ¥/250 + V54 — V162
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@ JLIELRY Multiplying Binomial Radical Expressions

Got It? What is the product (3 + 2V/5)(2 + 4\/5)?

(o+ (& +Al5 < 65

G* 65 +g8(s)
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@ LCENEY Multiplying Conjugates /-\
Got It? What is the product of the expression (6 — V12)(6 + V12)?

30 el -Gfe— 13
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@ B R.Y Rationalizing the Denominator

. . 2V7 . . .
Got If? How can you write the expression 73 Y_\/E with a rationalized
denominator?
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6.3 problems

- . - MATHEMATICAL
Practice and Problem-Solving Exercises @PRACTICES

@ Practice Simplify if possible.

49 See Problem 1.

10. 5v6 + VB 11. 693 — 293 12. 43 + 493
13, 3% — 5V 14, 14V% + 3VY 15. 7Wx? — 22

16. The design of a garden path uses stone L/ ~ 4 Sece Problem 2.
pieces shaped as squares with a side length \><><><><></

of 15 in, Find the length of the path.

Simplify. 4 See Problem 3.
17. 6V18 + 350 18, 14V20 — 3V125 19. V18 + V32
20. V54 + V16 21. 3981 — 2V54 22. V32 + Va8
Multiply. 4 Sece Problem 4.
23. (3 + VB + VE) 24, (2 + V(1 + 3VT) 25. (3 — 4v2)(5 — 6V2).
26. (V3 + V5)? 27. (V13 + 6)° 28. (25 + 3v2)?
Multiply each pair of conjugates. 49 See Problem 5.
29. (5 — VIT)(5 + V1) 30. (4 — 2V3)(4 + 2V3)
31. (26 + 8)(2V6 — 8) 32, (V3 + V5)(V3 — VE)
Rationalize each denominator. Simplify your answer. 49 Sece Problem 6.
1 4 54+ W3 34+ Ve
33. 1+ %3 34. 33 - 2 . 2 — V3 36. 2 — 238
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